7.2 Verifying Solutions for Differential Equations
ying d CA #1

Calculus Name:
| For each differential equation, find the particular solution that passes through the given point. |
_12 1. _ v _ i (T Y 602X — 4x: (0 —
L=t (1,-3) 2. 2= 10sin(50); (,1) 3. 2= 6e% - 4x; (0,-2)

2
4. &y sin(2x) and y’ (g) = %and y (g) =7 5. &Y — 02% 4 4x and y'(0) =2and y(0) = 3

dx? dx? 4




6. For what value of k, if any, will 7. For what value of k, if any, will
y = ke™3% + 85sin(2x) be a solution to the y = k cos(3x) — sin(5x) be a solution to the
differential equation y"' + 4y = 26e~3%? differential equation y"’ + 25y = 8 cos(3x)?

Answers to 7.2 CA #1

I y=4In]3x—2|+-—4 2. y=—-2cos(5x) — 1 3. y=3e?*—2x2—5

= _1g 3c+= —lp2¢ 42,343, 41 - =1
4. y= 4sm(2x)+2x+4 5. y=geT+xt+ox+s 6. k=2 7. k=7




